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These questions are for use by Missouri State High School Activities Association members for conference competitions and independent tournaments. The Scholastic Bowl Company of Virginia, using tossups from Virginia High School League competition, writes them. 

There are 36 matches for this use. Each entity (conference or tournament) will be assigned matches for their competition. 

Users of these questions are allowed to distribute the rounds they have been assigned to the competing teams. Sharing these questions with teams not in that competition is not allowed but general discussion of the questions is permitted, as long as answers are not being shared. 
First period: 15 tossups
TOSSUP 1
LANGUAGE ARTS

This language combined with Hebrew to form the now-extinct Yevanic language. In 1982, spelling changes eliminated a number of accent marks. Koine (koh-ee-nay) and Attic are among its ancient varieties, and in the 9th century BC it became the first language to use vowels in its alphabet. What language, in which the New Testament is written, is heard in cities such as Athens? 

ANSWER: Greek
TOSSUP 2
MATH

THIS IS A COMPUTATION QUESTION. How many ounces are in 2 tons?

ANSWER: 64,000 ounces

TOSSUP 3
SCIENCE

One of its most famous discoveries was of the "pillars of creation" in the Eagle Nebula, and it captured the collision of Comet Shoemaker-Levy 9 with Jupiter following its first servicing mission.  It is currently operating on only two of its six gyroscopes and is scheduled to be serviced again in 2008. Serviced in 1993 due to a faulty lens, what is this object orbiting Earth that allows astronomers to see deep into space? 

ANSWER: Hubble Space Telescope

TOSSUP 4
LITERATURE

Rituals associated with it include seven trips between the hills of Safa and Marwah, gathering 49 pebbles for stoning the Devil, and men wearing a plain white garment to achieve a state of ihram. It is known as umrah if not performed between the 8th and 12th days of the twelfth month. What task, that every able-bodied Muslim who can afford it must perform at least once, begins with a journey to a sacred city? 

ANSWER: pilgrimage to Mecca (or Hajj)

TOSSUP 5
SCIENCE

Developed by Walther Nernst, it states that the entropy of a system at zero is a well-defined constant; in essence, the entropy of a system near absolute zero depends only on temperature.  Name this law of thermodynamics that states the impossibility of reaching absolute zero.

ANSWER: third law of thermodynamics

TOSSUP 6
SOCIAL STUDIES

Despite not being an island, it contains the headquarters of the Caribbean Community. Most of its residents are East Indian or Black, and its White population was nearly cut in half after the mass suicide at Jonestown. The only English-speaking country in South America is what country, whose capital is Georgetown, located between Venezuela and Suriname? 

ANSWER: Guyana (DO NOT accept ‘French Guyana’)
TOSSUP 7
SOCIAL STUDIES

The first victims of these were the Earls of Winchester and Gloucester. If one was passed against you, you could no longer own property or pass your titles to your heirs; as such they were a quick way for a King to quickly get rid of opponents. They are forbidden by Article I, Section 9, Clause 3 of the Constitution along with ex post facto laws. What legislative act declares someone guilty of a crime without benefit of trial? 

ANSWER: bill of attainder
TOSSUP 8
FINE ARTS

The one by Andrea del Verrochio (vay-roh-kee-oh) shows a severed head next to the title figure. The one by Donatello has the head underfoot, and the title figure is only wearing a hat. The one by Bernini shows him preparing a stone in his sling. The one by Michelangelo has him standing naked, deciding to undertake battle. What Biblical figure is depicted in all four of these statues, in various stages of his battle with Goliath?

ANSWER: David (question is about both statues)

TOSSUP 9
MISCELLANEOUS

Actor Tim Matheson led a hostile takeover of this magazine in 1989, but it folded after publishing only one issue per year in 1996, 1997, and 1998. It still sells licensing rights to movies, most recently Teed Off Too and TV: The Movie. Founded in 1969 by three Harvard alumni, editors leaving for Saturday Night Live spelled doom for what humor magazine that described Faber College’s Delta Tau Chi chapter in Animal House? 

ANSWER: National Lampoon

TOSSUP 10
LITERATURE

Laurence Olivier (oh-lee-vee-ay) and Kenneth Branagh (brah-naw) both revived him for their film adaptations of Henry V, in which his death is announced by the ‘Hostess.’ His name was going to be John Oldcastle, until a descendant of the real John Oldcastle complained. Appearing in both parts of Henry IV and The Merry Wives of Windsor, is what fat, cowardly Shakespearean knight?

ANSWER: Sir John Falstaff
TOSSUP 11
MATH

THIS IS A COMPUTATION QUESTION. What is the remainder when 10,783,942 is divided by 8?

ANSWER: 6
TOSSUP 12
SCIENCE

Found in all U.S. states except Alaska, this plant causes urushiol-induced contact dermatitis and has the scientific name Toxicodendron radicans.  Name this rash-inducing plant that can be a vine or shrub that inspired the saying ‘leaves of three, let it be.’

ANSWER: poison ivy
TOSSUP 13
LITERATURE

In one tale, she married an evil sea bird that cursed her people, leading her father to throw her off a boat. Another tale holds that she married a dog and ate an arm of her father, Anguta, who again threw her overboard. Both tales agree that once overboard, her severed fingers became whales, seals, and other animals. Who is this Inuit goddess of the underworld and of the sea, the namesake of a dwarf planet that is close in size to Pluto? 

ANSWER: Sedna or Nerrivik or Arnakuagsak (ar-nah-koo-ahg-sahk)

TOSSUP 14
SOCIAL STUDIES

This revenue generating device was invented in 1954 by Maurice Lauré (loh-ray), and is a major source of funds for the French government. The European Union has been subjected to ‘carousel fraud’ to avoid this. Rebates are given to businesses and distributors based on the cost of their inputs. What tax, similar to a sales tax, is levied on each stage of manufacture and distribution? 

ANSWER: Value Added Tax or VAT (accept Goods and services tax or GST, but DO NOT accept ‘sales tax’)
TOSSUP 15
MATH

THIS IS A COMPUTATION QUESTION. Solve for x.  x squared minus 11x plus 28 equals zero.

ANSWER: x equals 4 and x equals 7 (accept in either order)

Second period: 10 toss-ups with 4-part bonuses
TOSSUP 16
SCIENCE

THIS IS A COMPUTATION QUESTION. What is the molecular mass of pyridine, a weak base of chemical formula C5H5N, given that carbon’s atomic mass is 12, hydrogen’s atomic mass is 1, and nitrogen’s atomic mass is 14?

ANSWER: 79
BONUS 16
SOCIAL STUDIES

Identify these stock market terms.

A.
Calls are a stock option that allows the holder to buy 100 shares of stock at a given price. What option allows the holder to sell 100 shares of stock at a given price?


ANSWER: put(s)

B.
What term is selling a stock you don’t own, thus allowing you to profit if the stock price goes down?


ANSWER: short selling

C.
What class of stock share is ahead in line of common shares for dividends, but doesn’t allow voting rights in the corporation?


ANSWER: preferred
D.
The Dow Jones, with only 30 stocks, is not as accurate a reflection of market conditions as what average that contains 500 stocks?


ANSWER: Standard and Poor’s or S&P
TOSSUP 17
FINE ARTS

The margrave Christian Ludwig didn’t have enough musicians to perform them, as King Frederick William I wasn’t very artsy. They were sold in 1734, and not seen again until 1850, when found in the Prussian archives. Two are in F major, two in G major, and the other two are in D major and B-flat major. Occupying BWV work numbers 1046 to 1051 are what most famous concertos of Johann Sebastian Bach?

ANSWER: Brandenburg Concertos
BONUS 17
LITERATURE

Name these works of Russian literature from clues.

A.
Published in serial form between 1825 and 1832, this novel by Aleksandr Pushkin features a friendship between the title character and the poet Vladimir Lensky.

ANSWER: Eugene Onegin

B.
Olga, Masha, and Marina feature in this play about the decline of the upper classes in Russia – a play by Anton Chekhov.

ANSWER: Three Sisters
C.
The system of labor camps in Soviet Russia is the basis for this work by Aleksandr Solzhenitsyn.

ANSWER: The Gulag Archipelago

D.
The title character of this Leo Tolstoy work throws herself under a train after being rejected by Count Vronsky.

ANSWER: Anna Karenina

TOSSUP 18
SOCIAL STUDIES

Quotes attributed to him include: ‘The worst crime against working people is a company which fails to operate at a profit’ and ‘It is impossible for capitalists and laborers to have common interests.’ He broke with fellow leftist Eugene Debs and supported America’s entry into World War I. Apprenticed as a cigar-maker at age 10, who was the first president of the American Federation of Labor? 

ANSWER: Samuel Gompers
BONUS 18
MATH

THIS IS A COMPUTATION QUESTION. What are the determinants of the following matrices, with elements read as follows: top left, top right, bottom left, bottom right?

A.
4, 8, 3, 9.

ANSWER: 12
B.
5, 9, 1, -4.

ANSWER: -29
C.
7, 12, 8, -8.

ANSWER: 40
D.
4, -7, 9, 21.

ANSWER: 147
TOSSUP 19
MISCELLANEOUS

It gets its name from a silver mine in Bohemia, from which large silver guilder coins were produced that had the same value as a gold guilder. It was once defined as a unit of trade equal to 412.5 grains of 90% silver. A Dutch lion and Spanish piece of eight were varieties of it, and it is legal tender today in Liberia, Hong Kong, and New Zealand. What unit of currency is also used in Australia, Canada, and the United States? 

ANSWER: dollar(s)

BONUS 19
SCIENCE

In the upper and lower leg of a human, there are a total of four bones, not counting the bones of the feet. Give the scientific names of those four bones.

ANSWER: femur

patella

tibia [TIB-ee-uh]


fibula [FIB-yoo-luh]

TOSSUP 20
LITERATURE

There are three attempted seductions in this poem: the would-be target yields only a total of six kisses, but gets a colored silk girdle. Four axe blows are exchanged between the title characters: one of them is a beheading, from which the beheaded picks up his head and walks away. In what medieval poem does one of King Arthur’s knights accept a challenge from a mysterious axe man in colored armor?

ANSWER: Sir Gawain and the Green Knight
BONUS 20
MISCELLANEOUS

Answer the following about the 2007 Pakistani presidential elections.

A. 
This incumbent won the election.


ANSWER: Pervez Musharraf

B. 
Pervez Musharraf is a member of this party.


ANSWER: Pakistan Muslim League

C. 
This opposition leader decided not to come back from Exile until after the election. On the night of her return a suicide bomber killed 131 near her motorcade.


ANSWER: Benazir Bhutto
D. 
This opposition leader was not allowed back into the country for breaking a term of his exile stating he needed to stay out of Pakistan politics for ten years. He was ousted in a coup by Musharraf in 1999.


ANSWER: Nawaz Sharif
TOSSUP 21
LITERATURE

To win this item, a hero had to overcome three challenges: yoke a team of fire-breathing oxen and plow a field, plant the teeth of a dragon and defeat the warriors who sprouted, and finally distract the sleepless dragon that guarded it. It was just the oddly-colored hair of the ram Chrysomallos (kree-soh-mah-lohs). Medea’s help was needed to claim what prize sought by the Argonauts?

ANSWER: the Golden Fleece
BONUS 21
SOCIAL STUDIES

Given the decades and a list of the counties name, which current state the population center of the United States was located in.

A. 
1790 Kent County, 1800 Howard County


ANSWER:  Maryland 

B. 
1820 Hardy County, 1830, Grant County, 1840 Upshur County, 1850 Wirt County


ANSWER: West Virginia
C. 
1950 Clay County, 1960 Clinton County, 1970 St. Clair County



ANSWER: Illinois 

D. 
1980 Jefferson County, 1990 Crawford County, 2000 Phelps County


ANSWER: Missouri
TOSSUP 22
SOCIAL STUDIES

Early explorers of this country include Matthew Flinders and George Bass. Zheng He may have explored its western coast, and a 1503 European map refers to it as ‘Fire Land’ and ‘Land of Parrots’ in Chinese characters. Many historians hold that its European discoverer was the Dutchman Willem Janszoon, hence its original name New Holland. What country was given a name in 1824 that reflected its position in the south?

ANSWER: Australia
BONUS 22
LITERATURE

Given a main character, name the John Steinbeck novel.

A,
Tom Joad



ANSWER: The Grapes of Wrath
B.
George Milton and Lennie Small
ANSWER: Of Mice and Men

C.
Adam Trask



ANSWER: East of Eden

D.
Lee Chong



ANSWER: Cannery Row

TOSSUP 23
SCIENCE

It features a picture of Archimedes, comes with 15,000 Canadian dollars, has to go to someone forty years or younger, and was first awarded to Lars Ahlfors and Jesse Douglas in 1936.  Grigori Perelman declined his in 2006.  Name this award given by the International Mathematical Union that is considered the most prestigious in math. 

ANSWER: Fields Medal

BONUS 23
SCIENCE

Given the compound and an element in it, give the oxidation state of that element. You must state the charge, if any. [do not prompt on answers without signs for any part]

A.
Oxygen in water



ANSWER: 2- or minus 2 

B.
Sulfur in sulfuric acid



ANSWER: 6+ or plus 6
C.
Aluminum, in alumina [uh-LOO-mih-nuh]
ANSWER: 3+ or plus 3
D.
Chromium, in potassium chromate

ANSWER: 6+ or plus 6
TOSSUP 24
MATH

THIS IS A COMPUTATION QUESTION. How much money is 10 quarters, 19 dimes, 6 nickels, and 328 pennies?

ANSWER: $7.98
BONUS 24
LANGUAGE ARTS

Given an English color and a language, give the color in that language.

A.
Spanish, purple.

ANSWER: morado (moh-RAH-doh)

B.
French, green.


ANSWER: vert (vair)

C.
German, black.

ANSWER: Schwarz (shvarts)

D.
Spanish, gray.


ANSWER: gris (grees)

TOSSUP 25
MATH

It was first stated in 1637 by its French originator in the margin of Arithmetica (ai-rith-meh-tih-kuh) by Diophantus. The margin, however, was not large enough to contain a truly marvelous proof.  Name this theorem, finally proven by Andrew Wiles, that states for non-zero integer values of a, b, c, and n, that for n greater than 2, there is no solution for a to the n plus b to the n equals c to the n.

ANSWER: Fermat’s last theorem

BONUS 25
MATH

THIS IS A COMPUTATION QUESTION. Convert the following radian measures into degrees.

A.
7 pi over 9.

ANSWER: 140 degrees

B.
Pi over 15.

ANSWER: 12 degrees

C.
5 pi over 18.

ANSWER: 50 degrees

D.
Pi over 12.

ANSWER: 15 degrees

HALFTIME
Third period: 15 toss-ups
TOSSUP 26
LANGUAGE ARTS

This ten-letter word comes to us from a Latin word meaning, ‘instruction.’ It can refer to a field of study. It can also refer to the ability to act within rules and guidelines, especially with reference to athletic teams or armies. What word’s most common usage is as a verb that means, ‘to punish in order to train’? 

ANSWER: discipline
TOSSUP 27
FINE ARTS

In this painting, a girl is wearing a yellow dress in front of a company of militia as they march. It was commissioned by Frans Banning Cocq and despite its title is set during the day. What is this painting by Rembrandt? 

ANSWER: The Night Watch or The Company of Frans Banning Cocq and Willem van Ruytenburch
TOSSUP 28
MATH

THIS IS A COMPUTATION QUESTION. What first-quadrant angle has a sine equal to .5?

ANSWER: 30 degrees or pi over 6 radians
TOSSUP 29
SOCIAL STUDIES

Among the first of these was one in 1229 that ended the Albigensian Crusades, and another in 1657 made an Anglo-French alliance against Spain. One in 1951 didn’t end any wars, but rather established the European Coal and Steel Community. One in 1763 ended the Seven Years’ War. The one in 1783 that ended the American Revolution is the most famous of what negotiated documents signed in the capital of France? 

ANSWER: Treaty of Paris (accept Treaties of Paris)
TOSSUP 30
SOCIAL STUDIES

When he died in 1913, flags flew at half-staff on Wall Street. He hated being photographed due to his rosacea (roh-zay-shuh). He assumed full control of his firm in 1893, when Tony Drexel died. He soon after re-supplied the US Treasury with gold after the Panic of 1893. In 1901, what wealthy financier oversaw the creation of U.S. Steel, and in 1907 personally organized bankers to prevent the Panic of 1907? 

ANSWER: J(ohn) P(ierpoint) Morgan
TOSSUP 31
LITERATURE

This fictional 1936 Naval Academy graduate replaced de Vriess as ship captain, and was ultimately assigned to a naval depot in Iowa. He cut his ship’s towline and later ordered his ship to withdraw, leaving a Marine landing craft under hostile fire. He also liked to click marbles in his hand and used geometric logic to solve the theft of strawberries. What Herman Wouk character commands the minesweeper Caine? 

ANSWER: Lieutenant Commander (Philip Francis) Queeg (accept ‘Captain’ as the rank)

TOSSUP 32
SCIENCE

The intensity resulting from this phenomenon is given by Malus’s law. Types of it include elliptic, circular, linear, magnetic, and electric. Name this property of electromagnetic waves that describes the direction of the transverse electric field that is utilized by some photography filters and sunglasses.

ANSWER: polarization or polarity
TOSSUP 33
SOCIAL STUDIES

His birthday is celebrated by German-Americans on a weekend near September 17. He improved camp sanitation standards, taught proper use of the bayonet, and provided knowledge of Prussian military methods to a newly-formed army. Who wrote ‘Regulations for the Order and Discipline of the Troops of the United States’ in order to provide the Continental Army the essentials of military drill?  

ANSWER: Friedrich Wilhelm Ludolf Gerhard Augustin Steuben (Accept Baron von Steuben) 

TOSSUP 34
MISCELLANEOUS

‘Shut Up and Sing’ was the subtitle of a 2006 documentary that chronicled the controversy about this band. ‘I Can Love YOU Better’ was their first hit single in 1997 from their Wide Open Spaces album. However, they achieved notoriety for comments made by Natalie Maines at a 2003 London concert. What group scored the top three 2007 Grammys, including awards for their single, ‘Not Ready to Make Nice’?

ANSWER: Dixie Chicks
TOSSUP 35
LITERATURE

Early in this novel, this book’s title character is begging and works odd jobs for his friend Mahbub Ali. He is recognized by a Masonic certificate, and thus leaves Teshoo Lama to go study in Lucknow. He continues to study the clandestine arts, though, and assists the Babu by obtaining Russian documents. The orphaned son of a British army officer is the title character of what Rudyard Kipling novel set in India? 

ANSWER: Kim 

TOSSUP 36
MATH

THIS IS A COMPUTATION QUESTION. What is the sine of 150 degrees, which is equal to the sine of 30 degrees?

ANSWER: .5 or 1/2
TOSSUP 37
SCIENCE 

It was known to the Babylonians from at least the second millennium BC and is often used on fermented substances.  Forms of it include reactive, extractive, azeotropic, short path, vacuum, and fractional.  Name this method of separating chemical substances, based on differences in volatilities in a boiling liquid mixture, which is often used to make illegal alcoholic drinks.

ANSWER: distillation
TOSSUP 38
LITERATURE

He was a foundling on the streets of Liverpool, and was adopted in 1768. He ran away from home in 1780 after his life’s love announced her marriage to another man, and died in 1802, a broken man. Between 1782 and 1802, he bought Thrushcross Grange, got revenge on Hindley Earnshaw and Edgar Linton, and was haunted by the ghost of Catherine Earnshaw. Who was this protagonist of Wuthering Heights? 

ANSWER: Heathcliff
TOSSUP 39
SCIENCE

Its three main types have chemical formulas C18H22O2, C18H24O2, and C18H24O3.  Counter-intuitively, this hormone can be used to treat prostate cancer. Its functions include increasing bone formation and stimulating endometrial growth. It can be produced by the corpus luteum or the placenta at times. Uterine growth is encouraged by what main female sex hormone? 

ANSWER: estrogen
TOSSUP 40
MATH

THIS IS A COMPUTATION QUESTION. Convert the binary number 11001101 (one-one-zero-zero-one-one-zero-one) into a decimal number.

ANSWER: 205
Fourth period: 10 toss-ups with 4-part bonuses
TOSSUP 41
SCIENCE

The largest one recorded was over 7 inches in diameter, and the heaviest one weighed more than 1.5 pounds. On April 10, 2001, it caused $1.5 billion in insured losses, another record. Often found near the center of a rotating thunderstorm or tornado, its diameter is usually less than two inches. Freezing and re-freezing droplets of water creates what severe weather phenomenon that coats a summertime street in ice?

ANSWER: hail
BONUS 41
LITERATURE

Name these figures in Acts of the Apostles.

A.
The latter part of Acts focuses on what man’s four missionary journeys, the last of which was to Rome?


ANSWER: Saint Paul (or Saul)

B.
Who was the first known Christian martyr, stoned in chapter 7 of Acts?


ANSWER: Saint Stephen
C.
He fell dead along with his wife Sapphira when he withheld some proceeds from the sale of land from the church. 


ANSWER: Ananias 

D.
What person is addressed in the first verse of both Acts and Luke?


ANSWER: Theophilus
TOSSUP 42
LITERATURE

He is the founder, along with his radio co-host Ken Brown, of a volunteer group called ‘A Time to Help.’ In the mid-1990s, he crossed the Detroit Free Press’ picket line and returned to work as a sports columnist. He is more famous for books including For One More Day and The Five People You Meet in Heaven. Who wrote about his mentor, Brandeis sociology professor Morrie Schwartz, in Tuesdays with Morrie? 

ANSWER: Mitch Albom
BONUS 42
SOCIAL STUDIES

Identify these figures in the French Revolution.

A.
The Thermidorian Reaction brought the guillotining of what man who led the Committee of Public Safety during the Reign of Terror?


ANSWER: Maxmilien Francois Marie Odenthalius Isidore de Robespierre
B.
The coup of 18 Brumaire (broo-MAIR) brought to power what man, who gave himself the title of First Consul?


ANSWER: Napoléon Bonaparte (accept either)

C.
He was stabbed to death by Charlotte Corday while taking a bath?


ANSWER: Jean-Paul Marat (mah-RAH)

D.
Name the only man who served on the five-member Directory for the entire length of its existence.


ANSWER: Paul Barras
TOSSUP 43
SCIENCE

Known as Icterus galbula, it is closely related to a Bullock’s variety.  Native to eastern North America, the female of this passerine bird is yellow-brown and dull orange, while the male is orange and black.  Name this state bird of Maryland that has a baseball team named after it.

ANSWER: Baltimore oriole (prompt on ‘Oriole’)

BONUS 43
FINE ARTS

Identify these silent movie actors.

A.
Lionel, Ethel, and John were three members of what family who also includes the actress that played Gertie in the movie E.T.? 

ANSWER: Barrymore
B.
This early swashbuckler was married to Mary Pickford, and starred in The Mark of Zorro, Robin Hood, and The Thief of Baghdad.
ANSWER: Douglas Fairbanks or Douglas Elton Ullman
C.
This Italian-born heartthrob appeared in the 1921 classic The Sheik. 

ANSWER: Rudolfo (accept Rudolph or Rudy) Valentino or Rodolfo Alfonso Raffaello Piero Filiberto Guglielmi di Valentina d’Antonguolla

D.
This vamp appeared in the now-lost films Cleopatra, Camille, and Carmen, she was born with the name Theodosia Burr Goodman.

ANSWER: Theda Bara 

TOSSUP 44
MISCELLANEOUS

Recurring characters included Evan Drake, Harry the Hat, Robin Colcord, and Eddie LeBec. Characters that left the show during its run included “Coach” Pantusso and Diane Chambers. Employees included Rebecca Howe, Carla Tortelli, Woody Boyd, and Sam Malone, and regular customers included Norm Peterson, Frazier Crane, and Cliff Clavin. What 1980s NBC sitcom was set in a bar in Boston? 

ANSWER: Cheers
BONUS 44
MATH

THIS IS A COMPUTATION QUESTION. What are the medians of the following?

A.
24, 89, 44, 21, 108, and 12.

ANSWER: 34
B.
56, 62, 12, 98, 3, and 117.

ANSWER: 59
C.
45, 78, 66, 234, 12, and 888.

ANSWER: 72
D.
12, 999, 44, 82, 23, and 387.

ANSWER: 63
TOSSUP 45
MATH 

THIS IS A COMPUTATION QUESTION. How many 6-foot by 9-foot rectangles can fit in a 15-foot by 18-foot rectangle?

ANSWER: five
BONUS 45
SCIENCE

How many oxygen atoms do these anions contain?

A. 
Nitrate

ANSWER: 3
B. 
Acetate
ANSWER: 2
C. 
Chlorate
ANSWER: 3
D. 
Cyanide
ANSWER: zero [accept equivalents]

TOSSUP 46
SOCIAL STUDIES

He blamed a massive famine called the Holodomor on wealthy peasants known as ‘kulaks.’ He sought to build ‘Socialism in One Country,’ as opposed to spreading ‘Permanent Revolution’ around the world. He led defending forces during the Great Patriotic War. Who replaced the New Economic Policy of his predecessor with the first of many Five Year Plans and ruled the Soviet Union between 1922 and 1953?

ANSWER: Joseph Stalin
BONUS 46
SCIENCE

Of the five traditional kingdoms in biology, to which one are these species normally assigned:

A. 
Homo sapiens


ANSWER: animal(s) or Animalia
B. 
C. elegans [EL-uh-gahnz]
ANSWER: animal(s) or Animalia
C. 
E. coli



ANSWER: moneran(s) or Monera [prompt on “bacteria”]

D. 
Euglena gracilis [yoo-GLEE-nah grah-SIH-liss]


ANSWER: protist(s) or Protista or Protoctista
TOSSUP 47
LITERATURE

By the end of the book, the main character is now seventeen, but is serving as a nursemaid for her now-crippled mother Aurelia. However, she inherits the brick house in Riverboro from her aunt. She had moved there from the title location at age 10, and lived with her Aunts Miranda and Jane. What novel by Kate Douglas Wiggin is about the growing up of the oldest Randall girl, Rebecca? 

ANSWER: Rebecca of Sunnybrook Farm
BONUS 47
SOCIAL STUDIES

Answer these questions about the Vietnam War.

A.
Also called the General Uprising in Vietnamese, what surprise offensive was launched on January 30, 1968?

ANSWER: Tet Offensive

B.
American involvement in Vietnam escalated after what August 1964 joint resolution of Congress, passed after a minor attack on US ships in the title body of water?

ANSWER: Gulf of Tonkin Resolutions

C.
It was the most used of the ‘Rainbow Herbicides’ used to defoliate the Vietnamese jungles – its breakdown released cancerous dioxin. 

ANSWER: Agent Orange or Super Orange
D.
Who commanded American forces in Vietnam between 1964 and 1968?

ANSWER: William Westmoreland
TOSSUP 48
SOCIAL STUDIES

It is still being explored – its Balloon Ballroom and Guadalupe (gwah-dah-loo-pay) Room have been discovered in the past 40 years. Other features include a very tall stalagmite called the Witch’s Finger. Jim White discovered many of its features, and it is also known for its sixteen species of bats. Located in the Guadalupe Mountains of southeast New Mexico is what national park, a series of over 300 caves? 

ANSWER: Carlsbad Caverns National Park

BONUS 48
MATH

THIS IS A COMPUTATION QUESTION. Convert the following into Roman numerals.

A.
432

ANSWER: CDXXXII
B.
28

ANSWER: XXVIII
C.
633

ANSWER: DCXXXIII
D.
1082

ANSWER: MLXXXII
TOSSUP 49
MATH

THIS IS A COMPUTATION QUESTION. What is the median of 12, 94, 37, 256, 53, 3, 28, and 65; given that these numbers from least to greatest are 3, 12, 28, 37, 53, 65, 94, and 256?

ANSWER: 45
BONUS 49
LITERATURE

Name these George Bernard Shaw plays.

A.
“My Fair Lady” is based on this 1912 work.

ANSWER: Pygmalion
B.
This 1894 work obtains its title from the opening line of the Aeneid.

ANSWER: Arms and the Man
C.
“Don Juan in Hell” is part of this 1903 play.  

ANSWER:  Man and Superman
D.
This work’s title character is in the Salvation Army.  

ANSWER:  Major Barbara
TOSSUP 50
LANGUAGE ARTS

Consider the following sentence. (Quizmaster: speak slowly.) “My team was the champions at the end of the season.” (Quizmaster: speak normally.) What is the predicate nominative in that sentence?

ANSWER: champions
BONUS 50
MISCELLANEOUS

Identify these Hanna-Barbera cartoons.

A.
A commune of blue-skinned people in white hats are led by another blue-skinned person wearing a red hat.


ANSWER: The Smurfs
B.
They’re Smurfs, except they’re underwater, and they’re different colors, and they have a tube sticking from their heads. 


ANSWER: The Snorks
C.
This cartoon starred a blue dog with a Southern accent. 


ANSWER: The Huckleberry Hound Show

D.
This cartoon about a trio of leotard-clad teenage girls with their own rock band was the first Saturday morning cartoon to have an African-American regular character.


ANSWER: Josie and the Pussycats

END OF MATCH

Spare questions
TOSSUP 51
MISCELLANEOUS

This city’s mayor, Jerry Sanders, has endorsed a lawsuit to overturn Proposition 22, which bans gay marriages in its state. One of this city’s congressmen, Duke Cunningham, resigned in 2005. In October, the Witch Creek and Harris fires forced many residents to evacuate to Qualcomm Stadium. What is this city located in Southern California with a population of 1.2 million? 

ANSWER: San Diego 

BONUS 51
LANGUAGE ARTS

Name these homonyms.

A.
an early revision of a work, or a beer served on tap.

ANSWER: draft/draught

B.
to have gained the right to deserve something, or a jar that sometimes holds cremated ashes.

ANSWER: earn/urn

C.
to locate something, or to have had to pay a financial penalty

ANSWER: find/fined

D.
a barbed spear, or a mistake made in public

ANSWER: gaff/gaffe

TOSSUP 52
MATH

While similar to the parallel type, it is different in that it uses different computers over a network, while the parallel type is the same computer with more than one processor. Name this type of computing made famous by projects such as folding@home (read as: folding at home) and SETI@home (read as: seh-tee at home)

ANSWER: Distributed (accept word forms) computing (accept grid computing)

BONUS 52
FINE ARTS

Given a work, name the composer.

A.
The New World Symphony.

ANSWER: Antonín Leopold Dvořák
B.
Thus Spake Zarathustra.

ANSWER: Richard Strauss
C.
In the Hall of the Mountain King.
ANSWER: Edvard Grieg
D.
Symphonie Fantastique.

ANSWER: Hector Berlioz
TOSSUP 53
LANGUAGE ARTS

19th century geographers divided the Earth into five of these, including the ‘North Temperate’ and ‘Torrid.’ When paired with ‘out,’ it becomes a verb meaning to stop paying attention. It can also refer to an area of a town or city restricted to a particular type of development, such as ‘commercial’ or ‘residential.’ What word is most often paired with ‘Twilight?’

ANSWER: zone(s)

BONUS 53
SCIENCE

THIS IS A COMPUTATION QUESTION. Assume a box weighing 20 kilograms is suspended a meter above the ground by an ideal (that is, massless) 30-centimeter-long spring that has been stretched 10 centimeters beyond its equilibrium length. Also assume the acceleration due to gravity is 10 meters per second per second.

A.
What is the normal force acting on the box, in newtons?

ANSWER: 0 newtons [accept any answer indicating the lack of a force]

B.
What is the force exerted by gravity, in newtons?

ANSWER: 200 newtons

C.
What is the spring constant, in newtons per meter?

ANSWER: 2000 newtons per meter

D. 
Assume the bottom of the box suddenly breaks, but the box remains connected to the spring. The spring will then undergo this type of periodic motion that is neither driven nor damped.

ANSWER: simple harmonic motion [prompt on “SHM”]

TOSSUP 54
SCIENCE

They are less numerous than neutrophils (noo-troh-filz) but are more numerous than monocytes (maw-noh-sites), eosinophils (ee-oh-sigh-noh-filz), and basophils (bay-zoh-filz).  Large granular ones are known as natural killer cells, while smaller ones are known as T cells and B cells.  Name this type of cell that makes up twenty-five percent of human white blood cells.

ANSWER: lymphocyte(s)

BONUS 54
LITERATURE

Given an author’s first published novel, name the author.

A.
Fanshawe, 1828


ANSWER: Nathaniel Hawthorne
B.
Maggie: A Girl of the Streets, 1893
ANSWER: Stephen Crane
C.
Typee, 1846



ANSWER: Herman Melville
D.
This Side of Paradise, 1920

ANSWER: F. Scott Fitzgerald

TOSSUP 55
SOCIAL STUDIES

As an ancient unit of weight, the Greeks considered it equal to one amphora of water. The Roman one was equal to 1.25 Greek ones, and the Babylonian one was equal to 3,600 shekels or 60 minas. As a unit of money, one of silver was needed to pay a trireme (tree-rem) crew for a month, and the Byzantine emperor Basil collected 200,000 gold ones. What was this unit of money Christ referred to in a parable? 

ANSWER: talent(s)

BONUS 55
SOCIAL STUDIES

Answer these questions about the run up to World War II.

A.
What country had territory taken from it as a result of the Munich Agreement?


ANSWER: Czechoslovakia
B.
Who proclaimed ‘I believe it is peace for our time,’ upon returning home after the Munich Agreement was signed?


ANSWER: Neville Chamberlain
C.
What was the German annexation of Austria that took place in 1938?


ANSWER: Anschluss (an-SHLOOS)

D.
The Nazi-Soviet Pact, signed in late August 1939, was also named for what two men: the Soviet and Nazi German foreign minsiters?


ANSWER: the Molotov-Ribbentrop Pact (accept Molotov-von Ribbentrop Pact)

TOSSUP 56
LITERATURE

One of this book’s title characters gets the help of Father Andrew, who teaches him Latin, making him more educated than the typical resident of Offal Court. The other proves his identity by showing the location of the Great Seal, and rewards his protector, Miles Hendon. Tom Canty and Edward Tudor are the title characters in what novel by Mark Twain about mistaken identity? 

ANSWER: The Prince and the Pauper
BONUS 56
MISCELLANEOUS

Answer the following about motor oil.

A. 
This type of engine needs a small amount of oil mixed in with gasoline.


ANSWER: 2 Cycle

B. 
This is what the W stand for in 10W-30


ANSWER: Winter

C. 
This type of Motor oil doesn’t come from crude oil instead it is made in a chemistry lab.


ANSWER: Synthetic oil

D. 
This group came up with the standards for how motor oil is rated.


ANSWER: Society of Automotive Engineers 

TOSSUP 57
FINE ARTS

In the film adaptation of this musical, the songs “Learn Your Lessons Well” and “We Beseech Thee” were left out, but “Beautiful City” was put in. The play was written by John-Michael Tebelak, with music and lyrics by Stephen Schwartz (although Schwartz borrowed from the Episcopoal Hymnal.) The song “Day by Day” is the best-known from what musical that opened a year after the similar Jesus Christ Superstar?

ANSWER: Godspell
BONUS 57
MATH

THIS IS A COMPUTATION QUESTION. What are the products of the following complex numbers?

A.
(3 plus 4i) and (5 minus 6i)

Answer: 39 plus 2i
B.
(5 plus 2i) and (9 plus 4i)

Answer: 37 plus 38i
C.
(6 minus 5i) and (11 minus 14i)
Answer: -4 minus 139i
D.
(2 plus 3i) and (1 plus 5i)

Answer: -13 plus 13i
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